
 

00100246 / 247/248/249/250  Scharklappen     

 

  00600530    Lagerbuchse mit kegellager   

  00600684    Lagerbuchse mit kugellager   

  00900117    Flansch     

 

  08900018    Sechscheibe     

 

  08800209 / 08800210   12 Fingers  Ø166 x 32 x vk32,5 

 

  08800346     12 Fingers  Ø166 x 26 x vk32,5 

 

  08800379 / 08800380    10 Fingers  Ø 256 x 40 x vk40,5 

 

 

  08800383      10 Fingers  Ø 233 x 40 x vk40,5 

 

  08800384     10 Fingers  Ø 233 x 30 x vk40,5 

 

Zinger Mechanisatie BV 

Rolderstraat 2a,  9531 TC Borger Holland 

Tel 0031 599 234418 / Fax 0031 599 235908 

info@zinger.nl 



 

  08900015 135x265  Spatenschar     

 

  08900029 R 172x265 Spatenschar     

 

 

  08900030 L 172x265 Spatenschar     

  08900031 R 149x265 Spatenschar     

  08900032 L 149x265 Spatenschar     

  08900071 M 160x265 Spatenschar     

  08900270 M 150x235 Spatenschar     

 

  08900354 R 192x265 Spatenschar     

  08900355 L 192x265 Spatenschar     
 

 

 

Zinger Mechanisatie BV 

Rolderstraat 2a,  9531 TC Borger Holland 

Tel 0031 599 234418 / Fax 0031 599 235908 

info@zinger.nl 
 

 

 

 

 



 
        Diam  x  breedte  x  asgat 

        Rol / flens           .  

  07600655    Ø132 x 65 x ø35  

  07600704    Ø194  60  ø35  

  07600820    Ø132/170 65  ø35  

  07600822    Ø168  210  ø63  

  07600823    Ø168  63  ø35  

  07600838    Ø194  65  ø50  

  07600912    Ø100/135 65  ø30  

  07601022    Ø240  80  -  

  07601046    Ø132  59  ø30  

  07601618    Ø194/235 60  ø35  

  07602400    Ø194  80  ø40  

  08800168    Ø90  30  ø13  

  08800243    Ø62  21/25  ø13  

  08800625 / 2000625   Ø75/105 150  ø16,5  

  08900577  Distanzstück Ø30  10  ø16,5  

 

 

Zinger Mechanisatie BV 

Rolderstraat 2a,  9531 TC Borger Holland 

Tel 0031 599 234418 / Fax 0031 599 235908 

info@zinger.nl 
 

 



 

 

 

 

 

 

  20000807    Ø100/135 65  M24x48 

  20002869 Umlenkrolle  Ø100    M24  

  20005168 Loofintrekrol  Ø194  40  M16x40 

  20005169 Loofintrekrol  Ø194  62  M16x40 

  20053262    Ø 74    ø16,5  

  20006349    Ø68  120  M16x30 

  20008260    Ø130/165 60  M20x30 

  20009304    Ø130  80  M24X40 

  20009305    Ø128/135 170  M24X45 

  20010202    Ø78/109 45  M16x30 SW22 

  20011197    Ø100/135 65  M24x48 

  20011379    Ø100  65  M24x48 

 

    20016029    Ø100/135 65  M24X25 

 

 

Zinger Mechanisatie BV 

Rolderstraat 2a,  9531 TC Borger Holland 

Tel 0031 599 234418 / Fax 0031 599 235908 

info@zinger.nl 

 

 

 



 

 

  20017208    Ø62  22  ø12  

 

 

   20017570    Ø132/170 65  M20X27 

  20027578 / 20053262   Ø75  58  ø16,5  

  20027581/20053261   Ø95  55  ø16,5  

  20027673 / 20053264   Ø75/130 53  ø16,5  

 

  20027931    Ø75/105 53  ø16,5  

  20028967 – 60200070 – 61300016 Ø75  50  ø16,5  

  20029585    Ø100/135 65  M24X36 

  20029586    Ø78/109 45  M16x30 SW18 

  20030645    Ø60  40  ø16,5  

  20032845    Ø95/130 66  ø16,5  

  20034296      60  ø16,5  

  20038132    Ø95/130 55  ø16,5  

  20039136    Ø95  60  ø16,5  

 

 

    20039267    Ø150/190 52,5  ø16,5  

 

Zinger Mechanisatie BV 

Rolderstraat 2a,  9531 TC Borger Holland 

Tel 0031 599 234418 / Fax 0031 599 235908 

info@zinger.nl 



 

  20040200    Ø150  51/63  ø16,5  

  20040603    Ø90/114 44  ø12  

  20041100    Ø75/105 52  ø16,5  

  20041630    Ø75  41  ø16,5  

  20042985    Ø194/236 60  ø16,5  

  20042986    Ø192  60  ø16,5  

  20050894    Ø75/105 96  ø16,5  

  20028967    Ø75  43  ø16,5  

  60200052    Ø95  62  ø16,5  

  60200053 – 20053262 – 20028578 Ø75  64  ø16,5  

  60200054/20027584/20053263 Ø95/130 55  ø16,5  

  60200070    Ø75  50  ø16,5  

  60200075    Ø75/130 55  ø16,5  

  60200077    Ø75/105 55  ø16,5  

  61300016          

 

 

Zinger Mechanisatie BV 

Rolderstraat 2a,  9531 TC Borger Holland 

Tel 0031 599 234418 / Fax 0031 599 235908 

info@zinger.nl 


